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_— H5A H5A TE
= _JF% _JFE =2k(o —1OH (o

5% | 29 | 3% | =39 | c°on | =70
SA 238,978.1| 571,644.8| 216,045.3| 528,171.4 £9.6 AT7.6
A= 20,316.1| 200,908.3| 21,583.5| 178,380.5 6.2 A11.2
Bl = 119,453.1| 117,395.9| 93,423.3| 104,741.5 A21.8 A10.8
== 13,025.6| 36,807.8] 19,919.3| 39,974.2 52.9 8.6
H| E & 15,824.8| 33,583.7| 19,077.7| 36,488.2 20.6 8.6
A QI 4792.6| 14,4355 13,469.3| 32,566.8 181.0 125.6
O| & 2|0} 3,414.8| 31,2779 5,006.2| 304284 46.6 N2.7
ZzZA 2,879.9| 38,700.1| 2,668.3| 29,7169 AT3 A232
geld 10,672.2| 11,948.9| 10,503.0] 13,897.1 A1.6 16.3
0= 1,197.5| 12,812.0 1,237.2| 11,4616 33 A10.5
oat== 10,680.5| 13,379.9| 9,365.6| 10,702.9 A12.3 A20
It EOt+7| L 2,867.0 2,663.1| 7,766.0] 853809 170.9 2147
HZEtE 3122 6,0125 284.1| 4,754.0 A9 A20.9
d= 4575|  5,806.1 341.1|  3,794.1 A254 A347
FLIX] 1,322.0/ 1,3943| 2,8333| 3,0974 114.3 122.1
ZEEH 159.9 895.5 596.5 2,979.1 273.0 232.7
HA| 2 12,507.0] 13,386.6] 1,960.0| 2,201.1 A84.3 A83.6
3= 250.0] 11,5624 2938 11,8126 17.5 16.0
Be[MA 6,827.5| 6,670.7| 1,108.5| 1,540.9 A83.8 A76.9
= 126.7|  2,160.0 100.6| 1,523.9 A20.6 A29.4
Ol = Al OF 1,014.4 949.7 1,096.3| 1,241.6 8.1 30.7
FHLtCF 115.2|  1,026.6 155.1 1,235.0 346 20.3
B 7| 1,077.5| 1,025.8 9277 1,112.6 A13.9 8.5
Mo & 201.2 251.2 4297] 11,0188 113.6 305.5
Ot 2| ZFAFZ OF 2,469.2| 2,658.6 205.1 661.8 A91.7 AT75.1
Hot3 37.1 799.4 333 582.9 A104 A27.1
otz 2036 1,199.3 113.0 557.7 A44.5 A53.5
F 497 273.2 75.1 436.5 51.0 59.8
=EH|0f 1,089.5| 1,324.3 446.1 3844 A59.1 AT1
2{ A|Of 368.0 692.0 170.3 368.1 A53.7 ~46.8
7kLf 0.0 0.1 405.0 364.2| 1,840,990.4| 249,375.3
OHE| 22} 0.0 0.0 170.7 353.3 0.0 0.0
AL2 O} 4186 1,507.9 96.8 329.4 A76.9 AT782
23 19.2 121.9 28.3 176.3 477 446
Ol Azt 35.9 482.7 11.5 138.6 168 AT1.3
FEHE 15.7 90.0 23.0 1315 46.5 46.0




22| O] A|OF 8.5 70.7 17.0 100.4 99.4 42.0
SN 0.0 0.0 213 75.5 0.0 0.0
IRt S A E 11.4 96.8 9.4 744 NV A23.1
ZEC|of 45 34.1 12.5 71.1 176.8 108.4
O] oFof 1.5 11.1 5.3 476 248.1 330.2
OLEOOIZ|E 2.5 16.5 5.0 423 103.2 155.9
= 10.5 79.8 5.0 35.0 AS53 A56.1
gotZe|7t Zol= 0.0 0.0 24.6 24.7 0.0 0.0
BELO| 2.6 35.5 1.8 24.7 A314 A30.4
ol 0.4 10.4 48 24.3 984.2 1335
g2t A 1.6 16.6 2.6 17.6 55.7 6.3
CH 3t 33 22.1 2.6 16.1 204 A27.1
ol2t3a 1.7 6.3 1.2 12.6 A29.5 101.2
ALt 0.1 2.3 0.3 11.6 402.9 411.1
N2 43 33.7 14 11.2 A66.6 A66.6
£ =2H}7|0t 0.0 0.0 1.1 9.3 0.0 0.0
L+O|X| 2| Of 1.3 9.4 0.8 6.6 A389 A29.2
F0tL{Of 0.0 0.0 0.7 5.6 0.0 0.0
a7te| 0.0 0.0 04 46 6,280.6| 77,166.7
et 0.3 1.9 0.5 3.9 90.8 105.8
PEH| 7| AE 0.0 0.0 0.6 3.7 8,197.1 0.0
IEC|EOtE 53.8 38.1 0.6 3.6 A98.8 A90.6
22t 0.0 0.0 0.3 1.7 0.0 0.0
2 2| 0.1 04 0.2 1.3 211.1 190.0
RE3 0.3 1.9 0.2 1.2 N34 A35.8
Ayl 0.0 0.0 0.2 1.2 0.0 0.0
0|2 =4/ A|O} 0.0 0.0 0.1 1.0 0.0 0.0
=0t2[OftLt & = 0.3 2.9 0.1 0.7 A82.7 A75.8
7| 27| AAE 0.0 0.0 0.1 0.6 0.0 0.0
FL0|E 0.6 27.2 0.0 0.5 A91.6 A98.2
O X = 0.0 04 0.0 04 3.8 A1.8
H2f| 2! 0.0 0.0 0.1 04 0.0 0.0
=2[H[Of 0.0 0.0 0.1 04 0.0 0.0
OFO|E| 0.0 0.0 0.0 0.2 0.0 0.0
7IEL2 0.1 8.0 0.0 0.2 AT5.7 A97.1
EHAFL|OF 0.0 0.0 0.0 0.1 0.0 0.0
2tO[Hj| 2| OF 0.0 0.0 0.0 0.0 0.0 0.0
of| bt = 0.3 14.6 0.0 0.0 A100 A100
2| H| Of 27.5 53.0 0.0 0.0 A100 A100
Hf & OF & 0.0 0.0 0.0 0.0 133.3 AT77.8
B =2t Al 04 48 0.0 0.0 A100 A100




AH-C[Of2HH| Of 0.0 0.0 0.0 0.0 0.0 0.0
ZE2EE M= 1,300.0 1,286.3 0.0 0.0 A100 A100
22| =7} 51.2 743 0.0 0.0 A100 A100
S EH|L| o} 132.5|  1,827.2 0.0 0.0 A100 A100
£hd| of 0.3 1.1 0.0 0.0 A100 A100
K| £ E]| 04 2.5 0.0 0.0 A100 A100
7| 2[HFA| 75.1 202.5 0.0 0.0 A100 A100
£ 3,079.0 3,4486 0.0 0.0 A100 A100
o| x| 0.0 0.2 0.0 0.0 A100 A100




